Form A

Worksheet-3
MTH-05: Elementary Algebra (Linear Equations / Inequalities in Two Variables)

First Name: ..

Last Name: ...

1) The ordered pair (3, -1) is a 2) Consider the ordered pair (1, 2)
solution of b5y + 2x = 1. Which of and the two equations in two
the following is true ? unknowns:

M:4x -3y =4 ; N: 2x- 4y = -6.
Which of the following is correct ?

I
[y

a)x-Coordinate = 2, y-Coordinate

I
M

b)x-Coordinate = 5, y-Coordinate a){l, 2) is a solution of equation M

only

x-Coordinate = 3, y-Coordinate
c) 1 b){i, 2) is a solution of equation N
only

d x-Coordinate = -1, y-Coordinate =
)3 c}{lf 2) is a solution of both
equations M and N

d){l, 2) is not a solution of either

equation
3) Find the ordered pairs that are both | 4) Find the value of x so that (x, -4)
solutions of y + 7x = 0. is on the line given by -2x + 3y = 6.
a)(7, 0) and (0, 7) a)-3
b)(-1, 7) and (7, 1) b)9
c)(-1, 7) and (1, -7) c)3
d)(-1, 0) and (1, -7) d)-9
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5) Complete the following table of

values for the equation y + x = -8.

x 21101 | |
N O

Insi
\| W

6) For equation 8x + 2y - 8 = 0 find
the missing coordinate of the

ordered pair so that it is a solution.

(2, 8)
a)0
b)1
c)8

d)- 1
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7) Identify the location of the point 8) Which of the following is the graph
(1.5, -2.6). of the equation 3x + 4y = -12?
a)Quadrant I y
b)Quadrant II a) 3 X

c) Quadrant III

d)Quadrant IV
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9) Find the x-intercept and the y- 10) Graphx =7.
intercept of the graph of 4x - 3y =
24, 0
/ 0,7)
x-intercept = (0,0), y-intercept = _“
3(4,3) 2
—_
b}x—intercept = (0,-8), y-intercept =
(4,-3)
(7, 0)
) x-intercept = (0,-8), y-intercept = b) J_L./

(6,0)

d)x—intercept = (6,0), y-intercept = {
(0,-8) f

o)

11) Find the slope of the line that 12) Find the slope of the line through
passes through (6, -3) and (-4, - the given points.
1).

(3, 5) and (6, 7).
2
)3 a)3
1 b)2
b) 5 .
)5
o1 2
° 2
d)1 93
13) Find the slope of theliney -7 =0. 14) Find the slope of the line 5x + y =
10.
a)o
a)s
b)7
b)-5
c) Undefined
c)2
d)-7
d)-2
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15) Find the slope of the line 3x - 4y =

17)

16.
a)- 4
b)4

[
<
FN(

Determine whether the lines are

parallel, perpendicular or neither :

X+2y=5and 2x+y =95
a)Parallel
b)Perpendicular

c) Neither

16)

18)

Find the slope of the line in the
following graph :
y

d _ A=
)3
Determine whether the following
pair of lines is parallel,
perpendicular, or neither.

4x + 3y =9
4y = 5x - 12
a)Parallel

b)Perpendicular

c) Neither
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19)

Write an equation in the form Ax +

By = C, given that m = % and

y-interceptis (0, -3), where A, B

and C are integers.

a)x - 3y = -1
b)2x - 3y = 9
c)2x - 3y = -1
d)2x + 3y = -1

20) What is the equation of the

straight line in the following
figure?
y

a)y = 2%+ 3
b}y =-2X+ 3
}y = %x+ 3
d)Y :%'“
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21) Find the equation of a line given

23)

that:
slope = - 2, y-interceptis (0, 4).

a)y =2x + 4
bl]y =-2x + 4
Cy =-2x-4
d)y = 2x - 4

Find the equation of the line
containing the point (-3, -1) and

has slope - 3

oy =t s
b)y=—%x+5
oy s
d}y=—%x—5

22)

24)

Which of the following is the
graph of the equation 3y = 2x +
15?

Find the equation of the line
containing the point (0, 17) and

has slope 7"

a)y =%x+ 17

b)y=%><—1?
c)y=—%x+1?
d)y=—%x—1?
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25)

27)

29)

Find the equation of the line with
slope % and passing through (1, -
6).

a)-%x -y = -%
2 x -y = Y
9-5x + Ty = -47

d)}’:%x-6

Find the equation of the line
containing the points (-2, 5) and (-
4, -1).

ajyy =-3x-11
by = 3x - 11
c)y = 3x + 11

dly = - 3x + 11

Write the equation of the line that
passes through (-5, 1) and (2, 1)
in the formy =mx + b.

a)y=%x—%
b)y=%x—%
C)x =
dy =1

26)

28)

30)

Find the equation of the line:
Passing through (-8, 5) and
parallel to 9x -8y + 9 = 0.

ay = gx + 14

)8 + 9y = -19
- .8, _ 19

c)y 9.}\’: 0
- 9 9

d)y 8_1: + 3

Find the equation of the line that
passes through (2, -3) and (0,
1) ,in the form Ax + By = C.

a)2x +y=1
b)x -y =5
cx +y=1
d2x-y=-1

Write the equation of the line that
passes through (1, -5) and (1,
2).

a)y=%x—%
b)y=%x—%
cy =1
dx =1
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31) Determine the slope of the line in
the following graph.

1~

c}%

1

2

33) Ifthegraphofx-2y=6isalinel
through the points (0, -3) and (6,

0), describe the graph of x - 2y =
6.

d)

Half-plane containing the line L as
a)its boundary L and containing the
origin.

Half-plane containing the line L as
b)its boundary L and not containing
the origin.

Half-plane not containing the line
c) L as its boundary L and containing
the origin.

35) For f(x) = 3 - 3x, find f(-3).

32) What is the equation of the
straight line in the following
graph?

/

a-x+y+10=20

b)5x + 4y = 1
c)d4x + 5y =9
d)dx - 5y = 1

34) If the graph of x- 2y = 6is a line
L through the points (0, -3) and
(6, 0), describe the graph of x -
2y > 6.

Half-plane containing the line L

a)as its boundary L and containing
the origin.

Half-plane containing the line L
b)as its boundary L and not

containing the origin.

Half-plane not containing the

c)line L as its boundary and not
containing the origin.

36) Let f(x) = 2x - x2, find f(3).
a)ls

b)6 - %
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37) Letf(x) =-|x-7]|.Findf(-7). 38) Letf(x) =2x+ | 2x |. Whatis f(-
8)?
a)- 1
a)2 + x
b)- 14
b)- 2 + x
c)1
c)- 16
d)0
d)0
) For f(x) =X 4%, find £(1). 40 For the function £(x) = 2x* - 8x +
a)g a)-9
b)-7
5
DS 09
c}% d)7
d)1
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MTH-05: Elementary Algebra (Linear Equations / Inequalities in Two Variables)

1)

3)
5)
7)

9)

11)

13)

15)

17)

19)

21)

23)

25)

27)
29)

31)

Answer Keys

C}K—Ceﬂrdinate = 3, y-Coordinate = -
1

c)(-1, 7) and (1, -7)
d)
d)Quadrant IV

d)x—intercept = (6,0), y-intercept =
(0,-8)

1
b) 5
a)o
c)%
c)Neither
b)2x - 3y = 9
bly =-2x + 4

__4

dy = 3x 5
-3 + Ty = -47
cy = 3x + 11
dy =1

1
d)2

2)

1)
6)
8)

10)

12)

14)

16)

18)

20)

22)

24)

26)

28)
30)

32)

b)

only

d)-9
d)- 1

d)

b)

d)%

b)-5

d)—%

c)Neither

)y = lx+ 3

2
d)

a)y =ﬁx+ 17

ay = -g§ ¥
a)2x +y =1

dx =1

a-x+y+10=0

(1, 2) is a solution of equation N
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33)

35)
37)

39)

Half-plane containing the line L as
b)its boundary L and not containing
the origin.

d)12

b)- 14

c)%

34)

36)
38)

40)

Half-plane not containing the line

c)L as its boundary and not
containing the origin.
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